PI.	ΔNT	FNTFR	PRISES	PRODI	CTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
COTTON						
Lint - Non-irrigated		3,053.0	775.00	2,366,075	lbs.	\$1,230,359
Seed - Non-irrigated		3,053.0	1,240.00	3,785,720		\$208,215
Cotton (Total)	17	3,053.0	,	, ,		\$1,438,574
FORESTRY		-,				. , ,
Pulpwood						
Pine				58,787	cords	
Hardwood				14,637	cords	
Pulpwood (Total)				73,424		
Chip & Saw				5,394	cords	
Saw Timber						
Pine				15,204,411	board feet	
Hardwood				542,860	board feet	
Saw Timber (Total)				15,747,271		
Total Pulpwood, Chip & Saw Saw Timber FOB Mill	,					\$13,057,282
Total Forestry Stumpage						\$7,165,305
Forestry (Total)						\$13,057,282
FRUITS						
Blueberries	7	11.0	1,810.00	19,910	lbs.	\$24,888
Mayhaws						
Native	30	120.0	175.00	21,000	lbs.	\$21,000
Orchard	20	65.0	690.00	44,850	lbs.	\$56,063
Mayhaws (Total)		185.0				\$77,063
Peaches	*	20.0	65.00	1,300	bu.	\$39,000
Fruits (Total) FEED GRAINS		216.0				\$140,950
Corn	20	1,292.0	130.00	167,960	bu.	\$384,628

PI.	ΔNT	FNTFR	PRISES	PRODI	CTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FEED GRAINS						
Grain Sorghum	20	2,851.0	47.60	135,707	cwt.	\$542,828
Feed Grains (Total)		4,143.0				\$927,456
HAY FOR SALE						
Grass	40	500.0	1.50	750	tons	\$37,500
Hay for Sale (Total)		500.0				\$37,500
HOME GARDENS	2,800					\$840,000
NURSERY CROPS						
Fruit and Nut Trees	*				acre	\$50,000
Nursery Crops (Total)						\$50,000
PECANS						
Improved	25	270.0	600.00	162,000	lbs.	\$186,300
Native	15	450.0	400.00	180,000	lbs.	\$108,000
Pecans (Total)		720.0				\$294,300
SOYBEANS	15	5,531.0	30.00	165,930	bu.	\$1,103,435
SWEET POTATOES						
Canning				5,250		\$10,500
Fresh				9,750		\$175,500
Sweet Potatoes (Total)	*	50.0	300.00	15,000	bu. (50 lbs.)	\$186,000
VEGETABLES						
Mustard (Fresh)	*	4.0	400.00	1,600	doz. bunches	\$11,200
Okra (Fresh)	*	4.0	375.00	1,500	bu.	\$30,000
Snap Beans (Fresh)	*	4.0	80.00	320	bu. (30 lbs.)	\$6,400
Southern Peas (Fresh)	30	20.0	80.00	1,600	bu. (24 lbs.)	\$32,000
Squash (Fresh)						
Yellow Squash	*	3.0	150.00	450	bu. (45 lbs.)	\$5,400
Squash (Fresh) (Total)		3.0			, ,	\$5,400
Sweet Corn (Fresh)	8	12.0	500.00	6,000	doz. ears	\$18,000

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Tomatoes (Field)	10	8.0	990.00	7,920	lugs (20 lbs.)	\$118,800
Turnips (Fresh)	15	8.0	460.00	3,680	doz. bunches	\$25,760
Vegetables (Total)		63.0				\$247,560
WHEAT	*	182.0	40.00	7,280	bu.	\$23,442
TOTAL ALL PLANT ENT	ΓERPRISES					\$18,346,498

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					_
Crawfish (Farm)	*	20 Acres in Pro	od. 7,400	lbs.	\$4,810
Aquaculture (Total)					\$4,810
FUR ANIMALS			172	pelts	\$912
ALLIGATORS (WILD)			150	ft.	\$3,300
HUNTING LEASES	70	180,000 No. Acres		acre	\$990,000
		Leased			
HONEY	*	475 No. Hives	38,000	lbs.	\$51,300
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES		•		\$1,050,322

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES Steer Calves 300-400 lbs.			1,200	head	\$436,044

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
400-500 lbs.			655	head	\$273,793
500-600 lbs.			280	head	\$128,652
600-700 lbs.			150	head	\$78,000
Steer Calves (Total)					\$916,489
Heifer Calves					ŕ
300-400 lbs.			1,150	head	\$368,127
400-500 lbs.			635	head	\$239,373
500-600 lbs.			220	head	\$93,702
600-700 lbs.			120	head	\$58,500
Heifer Calves (Total)					\$759,702
Yearling Cattle					
600-700 lbs.			500	head	\$260,000
700-800 lbs.			150	head	\$84,375
Yearling Cattle (Total)					\$344,375
Cow-Calf Pairs			225	pair	\$162,000
Cull Cows			550	head	\$181,624
Cull Bulls			25	head	\$18,263
Cattle & Calves (Total)	200	6,000 No. Cov	WS		\$2,382,452
HORSES					
Brood Mares					
Race Horses	*	120 No. Bro		head	\$480,000
Show Horses	25			head	\$180,000
Recreation Horses	10	40 No. Bro	ood Mares 25	head	\$37,500
Brood Mares (Total)					\$697,500
Stud Fees					
Race Horses		3 No. Stal		mares bred	\$187,500
Show Horses		5 No. Stal	llions 20	mares bred	\$30,000

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
HORSES					
Stud Fees (Total)					\$217,500
Race Horses	*		20	head	\$200,000
Show Horses	50		200	head	\$800,000
Recreation Horses	150		500	head	\$500,000
Horses (Total)					\$2,415,000
RABBITS					
Fryers	7	70 No. Animals	6,720	lbs.	\$5,376
Does	7	70 No. Animals	6,720	lbs.	\$100,800
Rabbits (Total)					\$106,176
SHEEP					
Slaughter Lambs			15	head	\$1,472
Feeder Lambs			5	head	\$323
Sheep (Total)	*	15 No.Breeding			\$1,794
		Ewes			
GOATS					
Show Goats			25	head	\$3,750
Slaughter Goats			400	head	\$34,000
Stocker Goats			100	head	\$6,500
Cull Goats			40	head	\$1,680
Goats (Total)	15	350 No. Does			\$45,930
SWINE					
Show Pigs				head	\$3,000
Feeder Pigs			200	head	\$3,600
Slaughter Hogs			90	head	\$11,115
Culls			5	head	\$550
Swine (Total)	*	20 No. Sows			\$18,265
TOTAL ALL ANIMAL E	ENTERPRISES				\$4,969,617